TR EE ATM EOHBR SSCOP HE

H
kﬁ

A

=

ofF (T
S

R

e
%

E AR A T

P

T #% QSAAL thHilik
ft 4= SSCOP ?

T % SSCOP B
SSCOP JHE 5 PDU
SSCOP Ertgs
SSCOP F&

8 3t %ai tH 7R 1
HXEES

1Lk

MUBEEL AR ERE ZHEBNBEEAN, EHHMUELTRNMATMED ZBHAEERAN , XKE
ATMEOFEAE T EEQERFTE LR (SVC)REEAFHIE, ATMEO SRR EXEF—MEF I
%, EPEEKRBQ.2931 A MEEO(UNNIII A E R ENRBRESTATMERZ
(SAAL), SAALH MRS 4 EEEE @i (SSCOP) MRS 45 E thH A Zh8E(SSCF)4H Ko

ER , ATMERSIATHZEFEARKE , XEAFIHEMIFHESSCOPEERITHEESRSME
SSCOPEEEZ , BIEUNIFERHETHEE.

T #ESSCOPRIBEBINANGE(LANE)E P ImASEXN REMKN X BHEHRTE, JRE
REUN , BEAFRSFUTHEITONE BEH,

AR HTZERS , ATRETEREST L.

Aug 25 18:32:59.973 MEST: 9% .ANE-5- UPDOMN: ATMD. 1 el an default:
LE dient changed state to down

Aug 25 18:32:59.981 MEST: 9%.ANE-5- UPDOMNN: ATMD. 39 el an admi n:
LE dient changed state to down
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--------------------------------------------- Layer |
| CPCs | I
| ATM |
| PHY |

ATME DR HFN R ENBREEEFLANESHE . SINEREE T 5%Q.2931
SAAL(QSAAL)E B T AKX AR LIERE(PVC),
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7500- 3. 4(confi g)# interface atm 3/0
7500- 3. 4(config-if)# pve 0/5 ?



ilm Configure the managenent PVC for this interface
gsaal Configure the signaling PVC for this interface
<cr> 7500- 3. 4(config-if)# pve 0/5 gsaal

Cisco ATMIZ ¥l E B0 L #FHE E T QSAAL PVC, i5 X Hshow atm ve interface atm#s 5 LA
HiALLBRIABLE .,

1 s1010- 2# show atm vc interface atm 0/0/2

Interface VPI VCl Type X-Interface X-VPI X-VCI Encap Status
ATMD/ O/ 2 0 5 PVC ATMR/ 0/ O 0 45 @Q@SAAL  UP
ATMD/ O/ 2 0 16 PVC ATMR/ 0/ O 0 37 I LM upP
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| Q2931 Signalling Messages | SSCOP Trailer |
ot o e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e mem e aao +
| AAL5 CPCS Service Data Unit (SDU) | AAL5 Trailer |
ot o e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e mem e aao +

SSCOP#H BN ARXPDUREE MR , T —T“SSCOPHESHPDU I b #1T 7 infH. EETR
POLL PDUHISSCOPREH# :

SSCOP H 2.8 PDU

SSCOPfEMA15fH B3R RKPDURMNITHIFZIhEE, show sscopin TR AE X XL EMBURHEZN
PDUBEWRITEE., FELtHH REIF , ATMEO3/0KEMEEW T114PDU , BiES/NLHPDUR
1NFFEEPDU:

7500# show sscop atm 3/0
SSCOP details for interface ATM3/0
Current State = Active, Uni version = 4.0
[ out put omitted]
Statistics -
Pdu's Sent = 11, Pdu's Received = 11, Pdu's Ignored = 0
Begin = 1/1, Begin Ack = 1/1, Begin Reject = 0/0
End = 1/0, End Ack = 0/1
Resync = 0/0, Resync Ack = 0/0
Sequenced Data = 0/0, Sequenced Poll Data = 0/0
Poll = 8/8, Stat = 8/8, Unsolicited Stat = 0/0
Unassured Data = 0/0, Mgnt Data = 0/0, Unknown Pdu's = 0
Error Recovery/Ack = 0/0, lack of credit 0O
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cc-tiner timer (in secs) to send BGV END/ RS/ ER pdu at the
connection control phase

idle-tiner timer (in secs) to send poll pdu at the idle phase
keepal i ve-ti mer timer (in secs) to send poll pdu at the transient
phase
noResponse-tiner tinmer (in secs) at |ease one STAT PDU needs to be
recei ved
pol I -ti mer timer (in nmsecs) to send poll pdu at the active
phase
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7500# show sscop atm 3/0
SSCOP details for interface ATMB/ 0
Current State = Idle, Uni version = 4.0
Send Sequence Nunber: Current = 0, Maxi mum = 30
Send Sequence Nunber Acked = 0
Rcv Sequence Nunber: Lower Edge = 0, Upper Edge = 0, Max = 30
Pol | Sequence Nunber = 0, Poll Ack Sequence Nunber = 1
Vt(Pd) =0 WM(Sq) =0
Timer IDLE = 10 - Inactive
Timer_CC = 1 - Inactive
Timer POLL = 1000 - Inactive
Timer KEEPALIVE = 5 - Inactive
Timer NO-RESPONSE = 45 - Inactive
Current Retry Count = 0, Maxi mum Retry Count = 10
I --- Output suppressed.
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B {k3Ki% , SD PDUMPOLL PDURRRIRFIE S, KIXSBMNZUERNFFISRENIRSEE
o XETBFE TS EISSCOP PDUR MY SEFRS B F & pdu, show sscopin T & R 5151 ZH)
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ATM¢ show sscop
SSCOP details for interface ATM
Current State = Active, Uni version = 3.1
Send Sequence Number: Current = 79, Maximum = 109
Send Sequence Number Acked = 79
Rcv Sequence Number: Lower Edge = 93, Upper Edge = 93, Max = 123
Poll Sequence Number = 32597, Poll Ack Sequence Number = 32597
ve(pd) = 0 ve(sq) =1
Timer _IDLE = 10 - Active
! -—-- Output suppressed.
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PAUF R BE £ PA-A3RI 7500 R 51l 3% 1 88 % Hidebug sscop event atm 3/0a SR 4EK K. &
&R A T #ERdebughi .

*Mar 21 03:18:43.440: SSCOP(ATMB/0): i Begin pdu, Idle state, length = 8

*Mar 21 03:18:43.440: SSCOP(ATM3/0): Rcv Begin in ldle State

*Mar 21 03:18:43.440: SSCOP(ATMB/0): receive window in Begin Pdu = 30

*Mar 21 03:18:43.440: SSCOP(ATMB/0): o Begin Ack pdu, Idle state, rcv wi ndow v(nr) = 30

!--- A BEGIN PDU is received by the router, which responds with a BEGIN ACK PDU. !--- The window
size V(MR) is initialized to 30. *Mar 21 03:18:43.440: SSCOP(ATMB/0): state changed fromlidle to
Active *Mar 21 03:18:47.968: SSCOP(ATM3/0): o Poll pdu, state = Active, n(s) =0, n(ps) =1 *Mar
21 03:18:47.968: SSCOP(ATM3/0): i Stat pdu, Active state, length = 12 *Mar 21 03:18: 47. 968:
SSCOP(ATMB/0): Rcv Stat in Active State *Mar 21 03:18:47.968: SSCOP(ATMB/0): processStatPdu: ps
1, nnr 30, nr O *Mar 21 03:18:47.968: SSCOP(ATMB/0): processStatbPdu: vtPa 1, vps 1 *Mar 21
03:18:47.968: SSCOP(ATMB/0): processStatPdu: vta 0, vts 0 *Mar 21 03:18:47.968: SSCOP(ATM3/0):

processStatPdu: listCount = 0 - normal !--- This is the first outbound POLL PDU and inbound STAT
PDU. *Mar 21 03:18:48.040: SSCOP(ATMB/0): * Poll pdu, ns = 0, nps = 1 *Mar 21 03:18: 48. 040:
SSCOP(ATM3/0): o Stat pdu, n(r) =0, n(nr) =30, n(ps) =1 /--- The "*" indicates an inbound
POLL PDU from the attached ATM switch. !--- The router responds with an outbound STAT PDU. *Mar

21 03:18:57.292: SSCOP(ATM3/0): o Poll pdu, state = Active, n(s) = 0, n(ps) = 2 *Mar 21
03:18:57.292: SSCOP(ATMB/0): i Stat pdu, Active state, length = 12 *Mar 21 03:18:57.292:
SSCOP(ATM3/0): Rcv Stat in Active State *Mar 21 03:18:57.292: SSCOP(ATM3/0): processStat Pdu: ps
2, nnmr 30, nr O *Mar 21 03:18:57.292: SSCOP(ATM3/0): processStatPdu: vtPa 1, vps 2 *Mar 21
03:18:57.292: SSCOP(ATMB/0): processStatPdu: vta 0, vts 0 *Mar 21 03:18:57.292: SSCOP(ATM3/0):
processStatPdu: listCount = 0 - normal !--- This is the second outbound POLL PDU and inbound



STAT PDU. N(PS) and V(PS) !--- increment to 2. *Mar 21 03:18:58.004: SSCOP(ATM3/0): * Poll pdu,
ns = 0, nps = 2 *Mar 21 03:18:58.004: SSCOP(ATMB/0): o Stat pdu, n(r) =0, n(nmr) = 30, n(ps) = 2
*Mar 21 03:19:06.812: SSCOP(ATMB/0): o Poll pdu, state = Active, n(s) =0, n(ps) = 3 *Mar 21
03:19: 06. 812: SSCOP(ATMB/0): i Stat pdu, Active state, length = 12 *Mar 21 03:19: 06. 812:
SSCOP(ATMB/0): Rcv Stat in Active State *Mar 21 03:19:06.812: SSCOP(ATMB/0): processStatPdu: ps
3, nmr 30, nr O *Mar 21 03:19: 06.812: SSCOP(ATMB/0Q): processStatPdu: vtPa 2, vps 3 *Mar 21
03:19: 06. 812: SSCOP(ATMB/0): processStatPdu: vta 0, vts 0 *Mar 21 03:19: 06. 812: SSCOP( ATMB/ Q) :
processStat Pdu: listCount = 0 - normal *Mar 21 03:19:07.228: SSCOP(ATMB/0): * Poll pdu, ns = 0,
nps = 3 *Mar 21 03:19:07.228: SSCOP(ATMB/0): o Stat pdu, n(r) =0, n(nr) =30, n(ps) =3 /--—-
This is the third outbound POLL PDU and inbound STAT PDU. N(PS) and V(PS) !--- increment to

3. N(MR) remains at 30. N(S), VT(S), and VT(A) remain at 0 since !--- no sequenced Q.2931 "user"

data 1is being transmitted.
debug#ii 3R EEE T H 8 £ X KISSCOPHE L. | HENkeepalivetLHIH —E85 . Z{Tdebugii
B}, show sscop atmin © B [E BT 3R & RPdufy B KX FPdufy E WA R R FStatiy Ei% 18,

7500# show sscop atm 3/0
SSCOP details for interface ATMB/ 0
Current State = Active, Uni version = 4.0
Send Sequence Nunber: Current = 0, Maxi mum= 30
Send Sequence Nunber Acked = 0
Rcv Sequence Nunber: Lower Edge = 0, Upper Edge = 0, Max = 30
Pol | Sequence Nunber = 6, Poll Ack Sequence Nunber = 6
Vt(Pd) =0 M(Sq) =1

Tinmer _IDLE = 10 - Active
Timer _CC = 1 - Inactive
Ti mer _PCLL = 1000 - Inactive

Ti mer _KEEPALIVE = 5 - Inactive

Ti mer _NO- RESPONSE = 45 - | nactive

Current Retry Count = 0, Maxi mum Retry Count = 10

AckQ count = 0, RcvQ count = 0, TxQ count =0

AckQ HWM = 0, RcvQ HWM = 0, TxQ HWM = 0

Local connections currently pending = 0

Max | ocal connections allowed pending = 0

Statistics -
Pdu's Sent = 9, Pdu's Received = 9, Pdu's Ignored = 0
Begin = 1/1, Begin Ack = 1/1, Begin Reject = 0/0
End = 1/0, End Ack = 0/1
Resync = 0/0, Resync Ack = 0/0
Sequenced Data = 0/0, Sequenced Poll Data = 0/0
Poll = 6/6, Stat = 6/6, Unsolicited Stat = 0/0
Unassured Data = 0/0, Mgnt Data = 0/0, Unknown Pdu's = 0
Error Recovery/Ack = 0/0, lack of credit O

7500# show sscop atm 3/0
SSCOP details for interface ATMB/ 0
Current State = Active, Uni version = 4.0
Send Sequence Nunber: Current = 0, Maxi mum = 30
Send Sequence Nunber Acked = 0
Rcv Sequence Nunber: Lower Edge = 0, Upper Edge = 0, Max = 30
Pol | Sequence Nunber = 7, Poll Ack Sequence Nunber = 7
Vt(Pd) =0 WM(Sq) =1

Timer _IDLE = 10 - Active
Tinmer _CC = 1 - Inactive
Ti mer _PCLL = 1000 - Inactive

Ti mer _KEEPALI VE = 5 - Inactive

Ti mer _NO- RESPONSE = 45 - | nactive

Current Retry Count = 0, Maxi mum Retry Count = 10
AckQ count = 0, RcvQ count = 0, TxQ count =0
AckQ HWM = 0, RcvQ HWM = 0, TxQ HWM = 0
Local connections currently pending = 0
Max | ocal connections allowed pending =
Statistics -

0



Pdu's Sent = 10, Pdu's Received = 10, Pdu's lgnored = 0O
Begin = 1/1, Begin Ack = 1/1, Begin Reject = 0/0

End = 1/0, End Ack = 0/1

Resync = 0/0, Resync Ack = 0/0

Sequenced Data = 0/0, Sequenced Poll Data = 0/0

Poll = 7/7, Stat = 7/7, Unsolicited Stat = 0/0

Unassured Data = 0/0, Mgnt Data = 0/0, Unknown Pdu's = 0
Error Recovery/Ack = 0/0, lack of credit 0O
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